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Topic 1 Co Ordinates And Quadrants Very Short

Answer Type Questions



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. What is the abscissa of all the points on y -

axis ?

o Watch Video Solution

2. If the points A(2,0), B(-6,0)and C(3,a-3) lie on

X - axis , then determine the value of a.

o Watch Video Solution



https://dl.doubtnut.com/l/_suPw3GS3tRmN
https://dl.doubtnut.com/l/_HFxwkgGvi0KX

3. What are the conditions for points AB,C and

to form a parallelogram in a co- ordinate plane

?

o Watch Video Solution

4. Name the abcissa and ordinate of (5,-6)

o Watch Video Solution

Topic 1 Co Ordinates And Quadrants Short

Answer Type Questions



https://dl.doubtnut.com/l/_wotwn1hpJXaU
https://dl.doubtnut.com/l/_0ps7EgqzzTGI

1. Find '@’ so that (3,a) lies on the line
represented by 2z — 3y — 5 = 0 .Also , find
the coordinates of the point where the line

cuts the x - axis .

o Watch Video Solution

Topic 2 Multiple Choice Questions

1. The distance between the points

P(flfl, yl) and Q(wza yz) given by is :


https://dl.doubtnut.com/l/_iw7xhkAlY9Nq
https://dl.doubtnut.com/l/_kQCHa49nMpBH

A. \/(371 +22)° + (1 + 32)°

2

B. \/($1 +22)” + (Y1 + ¥2)

C\/ivl—ib"z (y1 + ¥2)

D. \/(331 —25)" + (g1 — )°

Answer: D

o Watch Video Solution

2.The Coordinates of origin are:

A.(1,0)


https://dl.doubtnut.com/l/_kQCHa49nMpBH
https://dl.doubtnut.com/l/_8TAnpeeee6IC

B. (2,2)

C. (0,0)

D. (3,3)

Answer: C

o Watch Video Solution

3. The distance between the co - ordinate of

points (p,q) from the origin :

A.p2 . q2


https://dl.doubtnut.com/l/_8TAnpeeee6IC
https://dl.doubtnut.com/l/_dQ4REjR0p5gu

Answer: C

o Watch Video Solution

4. The distance between origin and a point (

04) is :

A2


https://dl.doubtnut.com/l/_dQ4REjR0p5gu
https://dl.doubtnut.com/l/_Hjr3tMKGr9m9

B.4

C.8

D. 16

Answer: B

o Watch Video Solution

5. The distance between the points (2,3) and

(6,6) Is :

A. 5 units


https://dl.doubtnut.com/l/_Hjr3tMKGr9m9
https://dl.doubtnut.com/l/_2CJBhmTtDIvm

B. 7 units

C. 3 units

D. 4 units

Answer: A

o Watch Video Solution

6. Find the distance of the point (-4,-7) from

the y-axis.

A. 4 units


https://dl.doubtnut.com/l/_2CJBhmTtDIvm
https://dl.doubtnut.com/l/_tG1j7S6OMnY1

B. 12 units

C. 7 units

D. 8 units

Answer: a

o View Text Solution

7.The distance of the points ( — 4, — 7) from

they-axisis:

A. 4 units


https://dl.doubtnut.com/l/_tG1j7S6OMnY1
https://dl.doubtnut.com/l/_hI9wZbINvxbA

B. 7 units
C. 11 units

D. /65 units

Answer: A

o Watch Video Solution

Topic 2 Very Short Answer Type Questions

1. Find the distance between the origin and

the point (12, — 6)


https://dl.doubtnut.com/l/_hI9wZbINvxbA
https://dl.doubtnut.com/l/_U8ehDJ8AwRla

° Watch Video Solution

2. Find the perpendicular distance of the

points (7,5) from the y - axis

o Watch Video Solution

3. Points (0,0) ,(3,4/3) and (xy) from an

equilateral triangle , then what is (x,y) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_U8ehDJ8AwRla
https://dl.doubtnut.com/l/_kd6xrHZxnVxL
https://dl.doubtnut.com/l/_gGUgzzqEU3Z0
https://dl.doubtnut.com/l/_ZSvsy7HCHxy6

4. Find the coordinates of the point on x-axis

which is equidistant from the points

(—2,5) and (2, — 3)

° Watch Video Solution

5. Find the distance of A(2+ /3,2 — ,/3)

from origin .

o Watch Video Solution

Topic 2 Short Answer Type Questions



https://dl.doubtnut.com/l/_ZSvsy7HCHxy6
https://dl.doubtnut.com/l/_PAD0SM2tGzcL

1. Find the distance of the points P(3,4) and

the origin .

° Watch Video Solution

2.Find the value of k, if the points A(2,3),B(4,k)

and C(6, — 3) are collinear .

o Watch Video Solution



https://dl.doubtnut.com/l/_hHnPxi5qor01
https://dl.doubtnut.com/l/_RTK9pPVyhoEa

3. The Vertices of a triangle are
(8, —4),(9,5) and (0, 4) Prove that triangle

is an isoscele triangle .

o Watch Video Solution

4. The distance between the points (3,1) and

(Ox) is 5 units . Find x ..

o Watch Video Solution



https://dl.doubtnut.com/l/_106fGz4oCUX5
https://dl.doubtnut.com/l/_01ipbOxFTVpZ

5. Find the perimeter of a triangle whose
vertices have the cordinates (3,10) ,(5,2)and

(14,12).

o Watch Video Solution

6. Find the value x , such that the disatnce

between the points (2,5) and (x,7) is 13 units .

° Watch Video Solution



https://dl.doubtnut.com/l/_Nqtvv1I0MD6H
https://dl.doubtnut.com/l/_CgYFK9PEb0ZW

7. Find the radius of a circle whose centre is
( — 5,4) and which passes through the point

(_7’1)

o Watch Video Solution

Topic 2 Long Answer Type Questions |

1. (a) The distance between the points (3,1) and
(O) is 5 units . Find x

(b) A pint P(2, — 1) is equidistant from the


https://dl.doubtnut.com/l/_xXrqINHado0Q
https://dl.doubtnut.com/l/_m3PxU0Ryjxh8

points (a,7) and ( — 3, a) . Find 'a
(c) Find a point on y - axis which is equidistant

from the points (5,2) and ( — 4, 3).

o Watch Video Solution

2. Find the distance between the origin and

the point :
(a) (—6,8)
(b) (5,12)

(c) (—8,15)

o Watch Video Solution



https://dl.doubtnut.com/l/_m3PxU0Ryjxh8
https://dl.doubtnut.com/l/_ghjCmE5cJqfc

3. Prove that the points
A(1l, —3),B(—3,0) and C(4,1) are the

vertices of a right isosceles triangle .

o Watch Video Solution

4. Show that the points A(1,3),B(2,6),C(5,7) and

D(4,4) are the vertices of a rhombus .

° Watch Video Solution



https://dl.doubtnut.com/l/_ghjCmE5cJqfc
https://dl.doubtnut.com/l/_XE9XVFFOBo7a
https://dl.doubtnut.com/l/_Feau2mg9LloY
https://dl.doubtnut.com/l/_RgLyAHu3fG5s

5. Prove that the points
A(0, —1),B(—2,3),C(6,7) and D(8,3) are

the vertices of a rectangle ABCD .

° Watch Video Solution

Topic 3 Multiple Choice Question

1. The co- ordinates of the mid - point of the

line segment joining the points (2,3) and (4,7)

IS :


https://dl.doubtnut.com/l/_RgLyAHu3fG5s
https://dl.doubtnut.com/l/_4aprqDwddzik

A. (3,5)

B.(7,3)

C.(3,4)

D. (8,3)

Answer: A

° Watch Video Solution

Topic 3 Short Answer Type Question



https://dl.doubtnut.com/l/_4aprqDwddzik

1. Find the co-ordinates of the mid - point of

the line joining the points (-3,10)and (6,-8) .

° Watch Video Solution

2. Find the ratio in which the points ( — 1, k)
divides the line joining the points

(—3,10) and (6, — 8)

° Watch Video Solution



https://dl.doubtnut.com/l/_a0cS1QyxGHIW
https://dl.doubtnut.com/l/_zhPfZpAZrYtG

3. The point (4,2) divides the line segment

joining (5, — 1) and (2,y) in the ratio 1:2 .Find

y.

o Watch Video Solution

4., If the vertices of AABCare
A(5, —1),B(—3, —2),C(—1,8) find the

length of median through A.

o Watch Video Solution



https://dl.doubtnut.com/l/_wjqc7amprD9p
https://dl.doubtnut.com/l/_5e4FTY6O93Kw
https://dl.doubtnut.com/l/_UocGyBDSKIxs

5. Find the mid - point of side BC of AABC
with A(1, —4) and the mid - points of the

sides through A being (2, — 1) and (0, 1)

o Watch Video Solution

Topic 3 Long Answer Type Questions

1. In what ratio does the point ( — 2, 3) divide
the line segment joining the points

(—3,5) and (4, —9)?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_UocGyBDSKIxs
https://dl.doubtnut.com/l/_QrdTLR10nV2V

2. If the point C(1,1) divides the line segment
joining A( — 2, 7) and B in the ratio 3: 2, find

the coordinates of B .

° Watch Video Solution

3. Three cosecutive vertices of a parallelogram
are A(1,2) ,B(2,3)and C(8,5) . Find the fourth

vertex.

° Watch Video Solution



https://dl.doubtnut.com/l/_QrdTLR10nV2V
https://dl.doubtnut.com/l/_AVe75QGQx9Ob
https://dl.doubtnut.com/l/_KNMwKJItJwIF

4. Find the ratio in which the point ( — 3, p)
divides the line joining the points ( — 5, — 4)

and ( — 2, 3) .Hence find the value of p .

° Watch Video Solution

5. Prove that the diagonals of a rectangle with
vertices (0,0) ,(a,0),(a,b) and (0,b) bisect each

other and are equal .

° Watch Video Solution



https://dl.doubtnut.com/l/_KNMwKJItJwIF
https://dl.doubtnut.com/l/_mPcURnXYowKl
https://dl.doubtnut.com/l/_79UhOJ4X63Of

Textbook Corner Exercise 7 1

1. Find the distance between the following

pairs of points :
() (2,3),(4,1)
(”) ( o 57 7)7 ( o 17 3)

(i) (a, b)( — @, — b)

° Watch Video Solution



https://dl.doubtnut.com/l/_79UhOJ4X63Of
https://dl.doubtnut.com/l/_NmS0eqvKVtkp

2. Find the distance between the points (0,0)
and (36,15) . Can you now find the distance
between the two towns A and B, if these two

points (0,0) and (36,15) are represent town A

and town B .

o Watch Video Solution

3. Determine if the points (1, 5), (2, 3) and (-2,

-11) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_kqiuEC6xdzES
https://dl.doubtnut.com/l/_8LyH3U4R0Yk1

4. Check whether (5, -2), (6, 4) and (7, 2) aare

the vertices of as isoceles triangle.

o Watch Video Solution

5.1n a classroom , 4 friends are seated at the
points AB,C and D as shown in Figure .
Champa and Chameli walk into the class and
after observing for a new minutes Champa
asks Chameli , "Don't you think ABCD is a

square ?" Chameli disagrees . Using distance


https://dl.doubtnut.com/l/_8LyH3U4R0Yk1
https://dl.doubtnut.com/l/_VZ4FVsOn7uho
https://dl.doubtnut.com/l/_yGK5fJkv7lVr

formula , find which of them is correct .
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o Watch Video Solution

6. Name the type of quadrilateral formed, if

any by the following points, and give reasons


https://dl.doubtnut.com/l/_yGK5fJkv7lVr
https://dl.doubtnut.com/l/_ZWbczjfHNly6

for your answer :

(4, 5),7,6),(4,3),(1,2)

° Watch Video Solution

7. Find the point on the x-axis which is

equidistant from (2, -5) and (-2, 9).

o Watch Video Solution

8. Find the values of y for which the distance

between the points P(2, -3) and Q(10, y) is 10


https://dl.doubtnut.com/l/_ZWbczjfHNly6
https://dl.doubtnut.com/l/_dgqtWqRtKn8y
https://dl.doubtnut.com/l/_H54e0Xotz6Jc

units.

o Watch Video Solution

9.1f Q(0, 1) is equidistant from P(5, -3) and R(x,
6), find the values of x. Also find the distance

OR and PR.

o Watch Video Solution

Textbook Corner Exercise 7 2


https://dl.doubtnut.com/l/_H54e0Xotz6Jc
https://dl.doubtnut.com/l/_pgzxzI3xfkpG

1. Find the coordinates of a point A, where AB
is the diameter of a circle whose centre is (2,

-3) and B is (1, 4).

o Watch Video Solution

2.1f A and B are (-2, -2) and (2, -4), respectively,
find the coordinates of P such that AP

3
= 7AB and P lies on the line segment AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_yJP61Kyj1rtP
https://dl.doubtnut.com/l/_Y8HDCykh4dsD
https://dl.doubtnut.com/l/_wMcID6nCzbbl

3. Find the coordinates of the points which
divide the line segment joining A(-2, 2) and B(2,

8) into four equal parts.

o Watch Video Solution

4. Find the area of Rhombus if its vertices are

(3,0) (4,5) (-1,4) and (-2,-1) taken in order.

o Watch Video Solution

Textbook Corner Exercise 7 3


https://dl.doubtnut.com/l/_wMcID6nCzbbl
https://dl.doubtnut.com/l/_YfWzH2piQHZF

1. Find the area of the triangle whose vertices

are:

(2,3),(-1,0),(2,-4)

o Watch Video Solution

2. In each of the following find the value of 'k’

for which the points are collinear .

(8,1), (k, —4),(2, —5)

o Watch Video Solution



https://dl.doubtnut.com/l/_tR6XYXjlauTG
https://dl.doubtnut.com/l/_2cfecGV6RNs1
https://dl.doubtnut.com/l/_kNfWvWN0kcCt

3. Find the area of the triangle formed by
joining the mid-points of the sides of the
triangle whose vertices are (0O, -1), (2, 1) and (O,
3). Find the ratio of this area to the area of the

given triangle.

o Watch Video Solution

4. Find the area of the quadrilateral whose
vertices, taken in order are (-4, -2), (-3, -5), (3, -2)

and (2, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_kNfWvWN0kcCt
https://dl.doubtnut.com/l/_cDD3pzvinNiV

5. You have studied in Class IX, (Chapter 9,
Example 3), that a median of a triangle divides
it into two triangles of equal areas. Verify this
result for AABC whose vertices are A(4, -6),

B(3, -2) and C(5, 2).

o Watch Video Solution

Textbook Corner Exercise 7 4


https://dl.doubtnut.com/l/_cDD3pzvinNiV
https://dl.doubtnut.com/l/_I65Hkm9YkY5z

1. Determine the ratio in which the line 2x +y -
4 = 0 divides the line segment joining the

points A(2, -2) and B(3, 7).

|
I | '

|
AQ2,-2) C B(3,-7)

o Watch Video Solution

2.Find a relation between x and y if the points

(%, ), (1,2) and (7, 0) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_c6zfDtgb9XEH
https://dl.doubtnut.com/l/_pBSshwjRbsIY

3. Find the centre of a circle passing through

the points (6, -6), (3,-7) and (3, 3).

° Watch Video Solution

4. The two opposite vertices of a square are
(-1,2) and (3, 2). Find the coordinates of the

other two vertices.

° Watch Video Solution



https://dl.doubtnut.com/l/_cOx0V5aCCv4h
https://dl.doubtnut.com/l/_JG7jagBkeLQr

5. The Class X students of a secondary school
in Krishinagar have been alloted a rectangular
plot of land for their gardening activity .
Sapling of Gul mohar is planted on the
boundary at a disatnce of 1m from each other .
There is a triangular grassy lawn in the plot as
shown in the figure . The students are to sow
seeds of flowering plants on the remaining

area of the plot.

H -—I-I-—H—l—l—ll.



https://dl.doubtnut.com/l/_6Wr3oPt4o0UQ

(i) Taking A as origin , find the coordinates of
the vertices of the triangle .

(i) What will be the coordinates of the vertices
of APQR if Cis the origin

Also calculate the areas of the triangles i these

cases . What do you observe ?

o Watch Video Solution

6. The vertices of a A ABC are A (4,6), B (1, 5)
and C (7,2). A line is drawn to intersect sides

AB and AC at D and E respectively, such that


https://dl.doubtnut.com/l/_6Wr3oPt4o0UQ
https://dl.doubtnut.com/l/_I8G8aSawFl6c

= = Calculate th f A
= = —. r
o — 7 Calculate the area o

ADE and compare it with area of A ABC

o Watch Video Solution

7. Let A(4,2) ,B (6,5) and C(1,4) be the vertices of
AABC .

(i) The medium from A meets BC at D . Find the
coordinates of the point D.

(i) Find the coordinates of the point P on AD
such that AP:PD = 2:1

(iii) Find the coordinates of points Q and R on


https://dl.doubtnut.com/l/_I8G8aSawFl6c
https://dl.doubtnut.com/l/_HZp2Don5yd8M

medians BE and CF respectively such that
BQ:QE = 2:1 and CR:RF = 2:1.

(iv) What do you observe?

[ Note : The point which is common to all the
three medians is called the centroid and this
point divides each median in the ratio 2:1]

(v) If A(zy1,y1), B(z2,y2) and C(zs, y3) are
the vertices of triangle ABC , find the

coordinates of the centroid of the triangle .

o View Text Solution



https://dl.doubtnut.com/l/_HZp2Don5yd8M

